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2. \olumes with Hellow

Centers = Washers

® Volume IS sliced indo
~ pieces Hhot resemble:
s
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* Useful Hor a volume OF
revelution thet has an
Ernpf{-y or hollow middle .



Example
Find volume created when
drhe crea bounded by:

oy =y
is revelved around X =],
Solution r=ley
| >/ r=1<Xe
Xz=) R=al+X
R =1+ Jy’
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3. Volumes (but not of
Revo lu'h'on) :

® -TYPICaJ infor M&Hor\ :

e 'Baso. of Hﬁe VOIume
? (area in Xy plane.)
o Crogs-SecHon aof volume

Wwhen i+ s sliced in
a parhcu(ar wWay,

Exo.mpls_
Bose 18 +he r':gfon bounded
Y = Sl‘n(ﬁt)

byt Y=°
f | X =7C

X=0



~ Cross ~Sechons perpendicular
Jo He X-axis ore

Se,uare S

So lu‘HOn




Volume of )/2 . dx
Slice o

Il

 Toral J‘“'
(o)

Volume



